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Solve each equation.

1) ‘2 —3‘ |—1| 2) I—lol I 7 I
B 20 | 4Ty TS
| 3 | |- 111
3) | — i 4 _
)I 5I F4) 3X_|12 12‘
| 5 |=>°B : 21 -27
| —20 |
5) ‘—1 2|z=)6| 6) l 5 | |-331
-6 10 22 —4b—I 2I:I—2I
=61 1-221
7) ‘—1 —9‘ _‘n| 58)|20 -3 :’—6 -5
0 -1 2 ; 15 =31 -5 -4
9) -1 | -6l 10) | -1 —2| ‘—3 -5 13
v |=5]|=| 6 2 9 21 0 -36
8 - 16
181 | 0 |

....................................................................................................................................................................................



Answer Key - www.testinar.com

1)

S
20

ol
| 4 =Y
[ 3 | I
| 3|
| |
-8

4) 3 ‘12 -12
X_

21 —27

M
7 -9

" 3]
_4b_|2 I:

-6

7]
10]
|71

8) ‘20 3|_|
15 -3
‘ 5 3
-10 -3

10) | -1 —2) _
2 9
‘73 9 -9
3 -2 =2

(" N
(B Scanme
for more
test‘inar.com/t/?c;;g PRACT' CE
\ Y

.....................................................................................................................................................................



